Review Section 1.1 part 3and 4

Part 1. Carefully graph each of the following, then evaluate
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Part IL. Write equations for the piecewise functions whose graphs are shown belowy’ Assume that the units are
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Part ILI: Write the set notation for the domain of each function.
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14. How is the domain of f(x) =v';mdg{x}=é different? Why?
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For problem 1- 6, please give the name of the parent function and d be the fi d. You ma
use your graphing calculator to compare & sketch. v v For problems 10 - 14, given the parent function and a description of the transformation, write the equation of the
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Write the equation for the following translations of their particular parent graphs. You may use y= or function

notation (the f{x) type notation).
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Perform the indicated operation.

1) h(x)=x+4
glx)=2x+5
Find (h - g)(x)
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Review Section 1.4 Combination of Funcitons

Name kﬂ{ |

2) hx)=x* = x* +2x
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